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1.  What was the main aim of the Montreal

Protocol ?
(1) To reduce the use of automobiles.
o (2) Trading of carbon dioxid'e e.missions.
t[j’;ﬁ (3) To reduce the emissions of
greenhouse gases.
(4) To reduce the production of ozone-
destroying agents like CFCs and

Halons.

2.  Which of the following are main Heads

of the NITI Aayog ?

a. Design policy and programme
framework.

b. Foster co-operative federation

¢. Monitoring and Evaluation

d. Think tank and Knowledge and
Innovation Hub.

e. Controlling State Government

Select the correct answer using the codes

given below :
(1) a,c,donly (2) a,b,c,d
(3) a,b,conly (4) a, bonly

3. Contour bunding is a method of soil

conservation used in -

(1) Desert margins, liable to strong
wind action.

(2) Low flat plains, close to stream
courses, liable to flooding.

(3) Scrublands, liable to spread of weed
growth.

(4) None of these
564-

b¥
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3)

4.

Bushman Tribe is majorly found in
(1) Atacama Desert

(2) Kalahari Desert

(3) Sahara Desert

(4) Sonoran Desert

Find the match of the followings —

Benguela Current  — Indian Ocean

a.
b. Agulhas Current — Atlantic Ocean
c. Humboldt Current - Pacific Ocean

d. Canary Current — Atlantic Ocean

Which of the pairs given above are
correctly matched ?
(1) a&b
(3):bre,a

2) c&d
(4) a,b,c,d

Arrange these gases found in atmosphere
in decreasing order —

a. Neon

b. Krypton
d. Helium

Select the correct answer using the code
given below -

(1) ds b, a, Cc
(3) C’ ba d-, a

¢.  Hydrogen

(2) b,a,c,d
(4) a,d,b,c

Which of the following industry is not

correctly matched 2 '

(1) Detroit — jg famous for manufacturing
of aircraft and transport.

@ Pittsburgh _ famous for iron and
stee] industry,

®) Manchester _ s famous for textile
industry,

(4) Li VerPoO l
b‘-lilding.

— is famous for ship
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Wwith references tO India, Didwana,
Kuchaman, Sargol and Khatu are the
names of

(1) Glaciers

(2) Mangrove areas

(3) Ramsar sites

(4) Saline lakes

Which of the following statements are

not correct about coral reefs ?

a. Corals propagate in tropical waters.

b. Fresh water and highly saline water
are suitable for the development of
corals.

fragile and

¢c. Corals are

highly
vulnerable to climate.

d. The ideal depth for coral growth is
65 to 85 m.

Choose from the options given below -

(1) a,b,d

(2) c&d

: (3) Botha&c

(4) Bothb&d

Which among the following is not an
example of a convergent plate boundary ?
(1) Mount Fuji

(2) Mount Lassen

(3) Himalaya

(4) Bast African rift

564-C

11.

12.

13.

Which one of the following is not correct ?
(1) On 11" June 2007 a Buffer Zone of
148 Sq. Km. added to Silent Valley

National Park.

(2) Silent Valley area was notified as
reserved forest in 1914,

(3) The Silent Valley movement is a
very popular effort to keep valley
silent and control noise pollution.

Valley is an evergreen

(4) Silent
tropical forest in District of Kerala.

The situated between little
Andaman and South Andaman -

(1) 10° Channel

(2) Duncan Passage

(3) 9° Channel

(4) 8°Channel

place

Ministry of Culture of the Government
of India has setup seven Zonal Cultural
Centers (ZCCs) to promote and preserve
the cultural heritage of various regions
of India -

(1) Dehradun,
Udaipur,
Thanjavur

(2) Patiala, Udaipur, Nagpur, Prayagral:
Kolkata, Dimapur and Thanjavit

(3) Amritsar, Jaipur, Nagpurs Prayagra)
Kolkata, Kanyakumari, ThanaVt

(4) Jalandar,  Jodhpur, NPT
Prayagraj, Kolkata, Thanjav'f

Chandigarh, ~ Pune
Guwahati,

‘Lucknow,

%
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14. Granite and granitic rocks covered

percentage of the total
geographical area of Karnataka.

i (1) 28 (2) 48

"IORE 4) 75

15. Consider the following district(s) with
their importance :
a. Bangalore - Highest density

of population
b. Belagavi - Largest district
Uttara — Highest  forest
Kannada area
d. Kodagu - Smallest district

How many pairs are correctly matched ?
(1) only one pair

(2) only two pairs

(3) only three pairs

(4) All four pairs

l 16. New Moore Island disappeared in the
sea after many years of its creation. This

‘ island was claimed by which of the

following two neighbours ?

(1) India and Pakistan

(2) India and Sri Lanka

(3) India and Bangladesh

(4) India and Myanmar

'+ Match the following water fall with the

i :
¢ 15 river :
i

. Jog a. Sharavathi
ii. Gokak b. Doni
iii. Magodu c. Ghataprabha
iv. Chayabhavathi d. Bedti
i i il iv
() a S pethieaad
@ a ‘e imdawb
() a . ANEESEE
c d b a

18.

19.

20.

B S—

Consider the following statements 3

Assertion (A) : Gram panchayats are
working to improve education,
health and social sanitation, housing
and social protection and land
productivity.

Reason (R) : Gram panchayats working -
for poverty alleviation.

Choose the correct answer from the

options below :

(1) Both Assertion and Reason are true
and Reason is the
explanation of the Assertion.

(2) Both Assertion and Reason are true
but the Reason is not the correct
explanation of the Assertion.

(3) Assertion is true but Reason is false.

(4) Both Assertion and Reason are false.

correct

The total geographical area of Karnataka -

~accounts __ percentage of the area of
the country.
(1) 2.4 (2) 4.0
3) 5.8 4) 10.5
Match the following :
I II
- Co-operative a. Loan to purchase |
Society cattle ‘!
- Gram Panchayat b. Credit to farmers |
Self Help Groups ¢. Public polio
; programme
Primary Heajth 4. Supply of
Centre drinking water
1
(1) ‘s = Hea c
(2) (¢} b a d
COM I b. 4
(). b c
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71, Which one of the following is not a 24. Manaswini Scheme introduced by
Government of Karnataka is to protect :

Electricity Generation Project i
o ; Sy (1) Aged people

Karnataka ? (2) Children
E’i‘:(l) Sharavati Project (3) Women
- (2) Kali River Project (4) None of these

(3) Bhadra Project 25. Match the following measures for price

(4) Bhima Project stabilization :
1. Support price  a. It helps to stabilize the
22. Which ideologies were mentioned in policy priges RoR Eagncuitur]
_ . products.
Radhakrishnan Report released in 2007 ? 2. Public b. Determining prices for
1. Increasing farmers suicide due to - distribution the benefit of producers
agricultural indebtness. policy and ~ consumers by

reducing the involve-
ment of mediators.

indebtness and interest rates are 3. Buffer stock  c. Setting up of minimum
increasing. prices by the govemn-
ment to  purchase
agricultural products at

o

Because of mediators farmers’

(8 ]

Explain the importance of education

to remove the gap between rural and ' E the time of inflation.
ey 4. Development d. It protects the producers
) of cooperatives  during anti-inflation.
4. Providing permanent shelter facility & regulated g
for  agrarians  besides their markets,
agriculture land. e S
(Do a S S
(1) 1 &2 only @ c b a 4
(2) 2 &3 only (B) T ade b
(3) 1 & 4 only - W ¢ Al dauE

(4) All of these 26.  Consider the following :

jl L. Silicon city 2. Start-up city

! 23. Who is responsible for interest rate on 2 ?ianmnd city 4. ITHub
' ; e . Pink city
. its i ative societies ? :
| deposits in Cooper Which of the above are not applicable to
' (1) President Bangalore City ?

(2) Members (1) 4 only

E‘E _ . ) 3& 5 only
(3) Registrar @) 1,3&s a3
(4) Managing Committee 4) s only
564-C &)

g
- ¢
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27. Statements relating to the Mysore 30. Pilakula wildlife sanctuary is in which

district ?
Tenancy Act 1954 : (1) Shivamogga
; i luru
1 b (2) Chikkamaga
: A. The amount of gani should not be &) Dakshina Kannada
‘E more than % : (4) Uttara Kannada
B. Tenancy to tiller for more than 12 31. According to the Indian Meteorological

Department (IMD), which storm is
classified as a “Super cyclone” when the
C. Empowered the farmer to sell the wind blows at whatever speed ?
(1) Above 200 km
tanl . (2) Above 100 km
D. Owner of land acquiring land from (3) Above 220 km
(4) None of these

years.

tenant for his own cultivation.

(1) Only A, B, C are correct. 32. Consider the following pairs :
(a) Big Trunk — The Northern
(2) As Do Route _ Atlantic Sea
(3) A, C & D are correct. Route
| (b) The Trans- — Darwin and
(4) Only A,B & D are correct. Continental . Melbourne
Stuart :
28. Match the following below : & I(-jlighways
¢) Channel tunnel — Paris & London
i gt (d) The North _ North America
(i) Nayasena — Dharmamrutha Il;aciﬁc Sea - and East Asia
. oute ;
(ii) Nagachandara — Ramachandra Charita Which of the above given pairs is/are
(iii) Nagavarma  — Chandobundhi correct ? ) : ' -
; (1) (a) only

(iv) Janna — Yashodhara Charite @) ®)o B

(1) Only (i), (ii) are wrong. gg EOFh (a) & (b)

(2) Only (i), (iv) are correct. Y Neither (a) nor (b)

33, :
(3) Only (i), (iv) are correct. a‘;nfl{;iler the following statements :

The rain forest of the Amazon basin
I8 called ‘Selvas’.

() The Semangs are the tribal people

(4) All are correct.

29. 'Which one of the following is a ferrous i::ahoolgv;‘ i A basin.
metal ? ((,;,)mct 9 e above statements is/are
' (a) onl
2) Lead
.lﬁ (3" Tin (4) Manganese 8} Both () and (5}
. . Bor
564-C an either (a) nor (b)
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(1) (a) 02
(2) (b) =g
(3) (a) 3 (b) 20&E
(4) (a) 333 (b) 0@ e58)
35 Tonos Re@dnvd Xomoomndsy
TOUCINTD, q
(1) oomr Feig,
(2) EF BT
(3) QO Wossons
4) U § o
/ momuﬁmg:
= T3 11
A, %&3“&0@0&3%3@ i 1927
B. s sodnen et
C. Do weime 3 1o
: 42
D. ﬂmo&ﬁm_w@s
T0oons it R 1919
Xode3rish
A B C D
(1) 1 3 4 2
D1 3 '» 4
B3 Sl
@3 flag., o
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37. BRSO o, 200 IR :;‘o’rdqj;ai

DpearTieon. 0, 5, 35, 190,970
(1) 4815 (2) 4845
(3) 4875 (4) 4895
% 2 Q0LRT 45,000 TR. nowod
AT Dac (B WY Beom
gRoRmRT. WO IR 30D 20%
i Inoves TPRWT. TMRET, ©nY
RO 23S Y, ?
(1) ©n. 54,000
(2) ow. 56,250
(3) °r. 59,750
(4) *RInYQ cIPIEe 8.

39. B=2
C=6
D=24
E=120
F=1%
(1) 600
(3) 720

4

(2) 846
(4) 152

Oed FORT, 4 OITQ, 0Nz, e

558, 0950, Sz k
(1) 24 o=nR,

2) 1
(3) 6 a3 2 Qo

(4) 8 azne
41. 270 e, EE g !

(3) 260 e,

4) “RDnve
CYIe
oy

(% Scanned with OKEN Scanner



————Lw.smmramom

E‘.ﬂ':l:

34. What was the reason for Mahatma

Gandhi to organize a Satyagraha on

behalf of the peasants of Kheda ?

(a) The Administration did not suspend
the land revenue collection in spite
of a drought.

(b) The Administration proposed to
introduce permanent settlement in
Gujarat.

Which of the statements given above

is/are correct ?

(1) (a)only

(2) (b) only

(3) Both (a) and (b)
(4) Neither (a) nor (b)

35. Reforms in the Civil Services was

introduced by

(1) Lord Wellesley
(2) Lord Cornwallis
(3) William Bentinck
(4) Robert Clive

36. Match the following :

List—1 List — 11
A. Quit India Movement .. 1927
E‘%B. Simon Commission 2. 1920
C. Khilafat Movement 3. 1942
D. Montague-Chelmsford Act 4. 1919
Codes :
A B C D
(1 3 4 2
YL 3 ssd. .4
(3) 3 ] 2 4
(4) 3 1 4 2
564-C

40.

41.

(13)

37.

38.

39.

Complete the series by using one of the
options : 0, 5, 35, 190, 970

(1) 4815 (2) 4845

(3) 4875 (4) 4895

Shalini bought a washing machine for
Z 45,000 (cost price) and sold the same
at a profit of 20% on its selling price.
What is the selling price ?

(1) T 54,000

(2) 56,250

(3) 59,750

(4) None of these

If B=2
C=6
D =24
E=120
F=2

(1) 600

(3) 720

(2) 840
4 152

Raju and Ravi together can repair and
service in 4 days. If Raju alone can
complete the work in 6 days, in how
many days will Ravi complete the same

work ? \
3) 6 days @) Sdaya

A270 m lon : . A gy

of g train running at the speed

1,20 kmph  crosses another train
Mg in- opposite direction at the

:l:; l:ngth of the other train ?
30m - 990/i

(4) None of these

& Scanned with OKEN Scanner
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EARITT WA DO D, ?

(1) . 1,60,000

. 1,70,000

. 1,50,000

AR F\'%‘Q CNIRR ©e)

42/,

/
/

9

(2)
(3)

)

e
A

"

(+)

.

/

4 A3 B 03, by 030 BN 2 TRF.
/

a&u::.-zgi ?

(1) 8 =Trrieh
(2) 10 IZFrgd
(3) 12 S=Frsd

44. 202230 %330 136 080 3&@30@!\6@;
) Ll

8 ITFNY J03T, @30 mz;% ESOdJ&ES 030 -
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47. NaOH & 20T £ 1 ':.
(1) eogpedos’ (2) RO q_
(3) @aQeoD 4) 33 :

g .
1961 O teRogeom BooNEoD Mﬁ
dpnay, FIB P S8, onYde
eSO BHTTOOWOT IF, WAL FoZ
8, AN dooBRON0T B, VeRIES ?
(1) oon 14
() opn 16
(3) Qeri20
(ORI E

48 .

1961 G $moFe38 LRRIGIOE
 Se dyriy 3 BT

(2) RV ez

49.

23 2%, 2022 cin |
(1) wezoms O /_5( aommmm
(3) zogmes @) o i
2{ LOOS Bodeats Tma, i 3)
41526378 %) NATURE oy, 627109 4
» STt Ro8es emag | T
O HUN
SRS ? 2 R
(1) 416690 @ 16 . y : ,‘
(2) 426709
(3) 416790 7 Bivdcs
46. B BYNT Hoam. _ | | O
2o0wp, oY, 2,
1,16, 81,256, g X P
(1) 260 @ p
() 450 _(4; zzﬂg w
564-C
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42.
i TA1E of simple interest being 10% for the
;‘?\E first year and 12% for the second year

and 11% for the third year. What is the

total interest for 3 years ?

(1) ¥1,60,000

(@) T1,70,000

(3) ¥1,50,000

(4) None of these

Mr. Dinesh borrowed T 5,00,000. The

The age gap between A and B now is 2
years. After 8 years, the age gap between
them will be

(1) 8years

(2) 10 years

(3) 12 years

(4) None of these

If the January 1% of 2022 falls on
Saturday, what will be the day on 2™ of

July, 2022 ?
(1) Sunday (2) Wednesday
(3) Friday (4) Saturday

45. In a certain code HUMANITY is written
as 41526378 and NATURE is written as
EV 27109. How is HUNTER written in that

?
(1) 416690 (2) 426709
(3) 416790 (4) 462708

49.

47. NaOH solution is
(1) amphoteric
(3) acidic

(2) basic
(4) neutral

Which section of the Land Reforms Act
1961 gives the soldier or seaman, the right
to resume the lands from the tenant

48.

irrespective of the nature of tenancy, if he
wants to cultivate the land personally ?

(1) Section 14

(2) Section 16

(3) Section 20

(4) Section 15

50.

46.  Which of the following numbers of ﬂ-l;1 . 1,' .

given options will come in place of

blank in the series : : =3
1,16, 81, 256, - i
(1) 260 (2) 700 '
() 450 (4) 625

> R0N° ST N

(¥ Scanned with OKEN Scanner
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(i) wody 28
SREBTTD I,
SN BLEATD.

(if) SHpRI ©w0d 0V T/ IES
SRMOINOOR TR TLT-

SUNIRNVE, F00YT o) IRB.

ro@ BQROB, 11T,

(1) (i) IR

) (i) IR RO

3) (i) 3 (ii) S0= 30
(@) () =33 (i) 20w 3,

2( SUNGDNYY, CIRYTO WEEFRE Lrcisms
SR 2

(1) 359e30ed

2) ===

(3) Eem/Roweds
(4) IR 33

Z{ ‘B0 aaqmé&m TR
(1) 1936
(2) 1946
(3) 1956
(4) 1966

‘Boortl we’

(1) Bpowod
(2) worean WO0Y T
(3) 2EEDSNT Tny,
(4) ooFpRL

o SR S

—

57. w30 I
D%eaﬁwaa g@m&km

(1) 8. BT

(2) . TR,
(3) . BferaS*
(4) =9, SWT

43

58. BUNS BewFRYY, TONER. .

(a) BT ‘TPOCT” WOTD - me'&ae%
BRI Melat) o8 ed8
VTBOBONRN FEIPROSBT.

(b) AdeEpe

LT BTSN 0G0 80 et 33,
e a3 FBegs/red FOAPNS 7
(1) (@) =g o
@ (b) 33 |
(3) (a) 03 (b) wo@e
4) (a) vg (b) e

?'-/ 1961 O smorus @R B
CIRTE  FL  mop

Seteorsy 7
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53. COnSideI‘ the fOl-lOWing statemenfs ab out

4

Badami Chalukyas Virupaksha Temple :

(i) This Temple was built by wife of
Vikramaditya’s 2" to Lokamahadevi
to commemorate her husband’s win
over Pallavas.

(if) The Chief Architect of this temple is
Anivaritagunda.

Choose the correct answer,
(1) Only (i) is correct.

(2) Only (ii) is correct.
(3) Both (i) and (ii) are correct.
(4) Both (i) and (ii) are wrong,

Which of the following is not Exogenic
Geomorphic process ?

(1) Weathering

(2) Erosion

(3) Deposition

(4) Orogeny

‘AMUL’ wag founded in the year
(1) 1936 I

(2) 1946
(3) 1956

-

e it " _

57. Functional analysis of stratification vz,
propounded by .
(1) K. Davis
(2) J. Parsons
(3) E.Durkheim
(4) Max Weber

58. Consider the following statements :

(a) ‘Praries’ of Canada repwamt a
 typical example of a Te
Grassland. yu
(b) Temperate Grassl:
~ “Veld” in South A

(¥ Scanned with OKEN Scanner




P —

www.shikarat.com
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(3) BewRd AR DISer)

(4)

SWBE

62 den,mR0m Soond JYE o (ZBB)

QBRTHT
(1) 0. e,

2) ST.. DGR
(3) 2.3 TR
(4) 2e80° . 1TO°

% sooruend RpuResor Sreomtdodng
mﬂo& -

(1) $¥Bef one 23, 05°

(2) oo 23,08°

(3) Tpriexkme 3, 08°

4) ﬁ“ﬂs‘ WP, 08 55 a%m&
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TOWORTNERODN = ;STOIT 9
(1) wr-1X

(2) wen - IX-A

(3) wen -IX-B

(4) won-X
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(1) =owoms '
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(1) aSeo0n

(2) E,e8 030D LOxT agaas

(3) RB0TOD TOXT a@ai

(4) TORT FIHOD BORT NP

67. 2021-22 O ©QF8 RNOE TO Soree

0o, T 3T e300
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(2) 2,78,786 TR.TMD
(3) 2,22,002 TR.NsL
(4) 3,71,771 Ge.fsb
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Beodnosy Tonedy. '
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. Who introduced  the  banking
i Ombudsman scheme ?
) Reserve Bank of India

State Bank of India

Ministry of Finance

(4 NABARD

£ e concept of Zero-Based Budget
3B) was given by

JM. Keynes

R.A. Musgrave

(4) Peter A. Pyhr

The first ever Registered bank in

) Corpo ation Bank
4) State Bank of Mysuru

h the Panchayats ?
o

23ns® don® abmg_@’;ao‘
Dec 30, 2023, 11:45

Y.

part of Indian Canstimnon deals |

www.shikarat.com

66.

67.

68.

(@) All the physical, chemical and

: @1 Arctic forests are known as tundra.
: @? A biome usually has

L
T
™ N

s

Which one of the following type of
ecology is dealt with autecology ?

(1) Synecology

(2) Individual species ecology

(3) Community ecology

(4) Ecosystem ecology

As per Economic Survey 2021-22, per-
capita income of Karnataka State is .

(1) 22,36,451
(2) T2,78,786
(3) 2,22,002
4) 23,71,771

y - =0
Consider the following statements

related to ecology :

biological factors that a specie§

needs in order to live and reproduce
is called ecological niche.
(b) The boundary zone between two
ecosystems are known

ecotone.

- a distinct
and lifeforms adag ited to that

- Biome is more Xtensive

DOV, y
OVEe  statem

(¥ Scanned with OKEN Scanner



www.shikarat.com

% TR
/ g, - 1 oded 385, 11 ), BROD 2
umewﬂmw%&mo

Terie g9 QeR
Fo03nG Hu3TRRY $ok, FRE.
m.‘au-l m‘i‘ n
A murT el @ 1 ORIV
B. muwry dus @ 2. RArew
C. P 3. emhdaﬁaagdm
D. ootded o 4. BB
TOTo
RoFe3nsd ¢
A B € D
2 3 1z
233 479" i
B)1 3 4 2
@a 5 3
Z P (A) BT TN

TOREFRLD  moon RoTEg Dm0
o nd (TSDF) yoxged o3
T35, D0 BRBOINIBS.

%0 (R) : W[oHT Yoeod PR,
S, Bsbrvon e oen BOBEFR

RISl oA TgododRy,  BRwF -

Bogen or womh BooLeRnI.
(1) () 253 (R) 200 50 wrd (R),
(A) o2 700t si0mbogoey,
(2) (A) %0 esrs (R) 3@),
(3) (A) 32 o8 (R) g,

(4) (A) ¥ (R) 0% 20 v (R).

564-C

' }/n“#ﬁéée@#ﬁ#ﬁ% Tonesx.

/ mctnmndRE 8080 81 BN Tewdrivay
oriess.

(a) mOWOIH IR eITPF  TBIOT
VLTI atm@a%uadddodd FOWFT

DARDL IR
| (b) W, TTR0TE), WO Te
WROF T 59,307 &Y TiReORWBOT.

(c) &) SWood So, & NO, oz
QUOERMOZT.

(d) oo8ae), =R FIeBnOR MLCHE,
SO, 7 eRIDT IPIToED) 80
pg/m? &N,

FoeDT 0BT BePENT TOOTPN ?

(1) (@), (b), (c) = (d)

@ @, @ =) R

(3) (b) =2 (d) =nZ

() @) (b) 33 (c) 3

(@) §oom =3 HPoor  Recod
SVOERNIBT.
Pl
R2e080B eoEnrods. |
(d) oasee
- Rreotdon
81 Beodnivg, cdnymd Ak

PO,

™

S0t DT
Dec 30, 2023, 11:46

Bns®

(¥ Scanned with OKEN Scanner



www.shikarat.com

69 Match List — I with List — II and select
the correct answer using the codes given

pelow the lists :

List -1 List - 11
ﬁ (Cause) (Effects)
A. Carbon monoxide 1. Acid rain
B. Carbon dioxide 2. Explosion
C. Methane 3. Asphyxiation
D. Sulphur dioxide 4. Greenhouse
effect
Codes :
U i e )
(1.2, 3 1 4
2% 4 2 1
3) 1 3 4 2
4 4 2 1 3
M. Assertion (A) : Mﬁnicipal Solid Waste
is disposed off in the Transport Safe
Disposal Facility (TSDF) to convert

it into organic compost.
Reason (R) :
Solid Waste is

compost by worms; and the process

The organic Municipal

converted into

is called “Vermicomposting’.
(1) Both (A) and (R) are true but (R) is
NOT the correct explanation of (A).
) (A) is true but (R) is false.
3) (A) s false, but (R) is true.
@) Both (A) and (R) are true and (R) is
SM‘C the COrrEect explanation of (A).

(1)

71.

72.

Consider the following

stateméms

regarding air pollution :

(a) The pollutant caused by incomplete
combustion of organic matter is
carbon monoxide.

(b) Depletion

atmosphere may trigger skin cancer.

of ozone in outer

(¢) Acid rains are caused by SO, and
NO,.

X

(d) The permissible standard for SO, in

air for residential areas in India is 80
pg/m’.
Which of the

correct ?

(1) (a),(b), (c) and (d)
(2) (a), (c) and (d) only
(3) (b) and (d) only

(4) (a), (b) and (c) only

above statements are

Consider the following statements :

(a) Typhoid fever is caused by viral
infection.

(b) Infectious hepatitis is caused by
bacterial infection.

(¢) Cholera is caused by bacteria.

(d) Amoebic dysentery is caused "3‘
protozoal infection. 5

Which of these statements are correct ?
(1) (a), (b), () and (d) :
(2) (a), (b) and (c) only

(3) (¢) and (d) only

(4) (b) and (c) only

(3 Scanned with OKEN Scanner
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73. Area method of land filling is most

suitable when

(1) Area is unsuitable for excavation of
trenches.

(2) Adequate depth of cover material 18
aqvailable at the site.

(3) The water table is near the surface.

4) Natural or artificial depressions

exist in the vicinity.

74. Match the List — 1 with List — IL

List—1 List - I1
A. Doctrine of 1. Shankari Prasad

Basic v. Union of India
Structure

B. Doctrine of  II. Ram Jawayav.

Eclipse State of Punjab
C. Doctrineof IIL R v. Waterfield

Harmonious

Construction

D. Doctrine of  IV. Bhikaji Narain

Separation of Dhakras & Ors.
Power v. State of
Madhya Pradesh

V. Kesavananda
Bharati v. State
of Kerala
Choose the correct answer from the

options given below :
A B8°C D
m v v 1 1
@ 8% m N VY
2(3) 17 ISV
@ mOIVE il

. 564-C

www.shikarat.com

76.

77.

(23)

75.

judiciary is to protect and enforce the (1)

Consider the following components of
money supply in India :

A. Currency in circulation

B. Banker’s deposits with the RBI

C. Other deposits with the RBI

D. Demand deposits of banks

Which of the above are the components
of Reserve Money ?

(1) AandC

(2) A,Band C

(3) A,BandD

(4) B,CandD

Every proclamation issued under Article
352 shall be laid before ‘

A. Lok Sabha

B. Rajya Sabha

C. Legislative Assembly

D. Legislative Council

Choose the correct option from the
following codes :

(1) Aand B
(2) AandC
(3) A,BandC
(4) All of these

The most significant function of the

fer
—of the people guaranteed to them aj‘:i
by the Constitution of India. i

(2) Fundamental Rights <

(3) Directl :
) Directive Principles of State Policy
(4) All of these

(3 Scanned with OKEN Scanner
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(1) AsRD (2) A,Ba3D
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78, Consider the following components (‘)f

the PURA model of economiC
development
. Facilitate
villages.
Enhancement of electricity in rural

road connectivity 1in

areas.

Establishment of cyber café in

villages.

_ Construction of hospital in rural
areas.

Which of the components given above

is/are the major connectivity formulated

by the PURA model ?

(1) AandD (2) A,BandD

(3) A,BandC (4) A,B,CandD

Consider the following statements in

relation to ‘RESIDEX” :

A. The index is prepared to track the
prices of residential properties in
India on the basis of actual
transaction prices.

B. The index is prepared from the
secondary data available from
various sources like housing,
finance companies and banks.

Which of the statements given above

is/are correct ?

(1) Aonly

(2) Bonly

:(3) Both A and B

¢(4) Neither A nor B

following Committee ?

(1) Abid Hussain Committee
(2) S.Padmanabhan Committee
(3) Y.H.Malegam Committee
(4) R.H. Khan Committee
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80. The concept of Universal banking in
India was recommended by which of the

www.shikarat.com =

82.

(25)

83.

84.

81. The inaccuracy in the present Gregoriap

calendar is second per year.
(1) 36 (2) 26
(3) 46 (4) 16

When the north pole of the Earth leans
farthest towards the Sun, it is called

(1) Winter solstice

(2) Summer solstice

(3) Spring equinox

(4) Autumnal equinox

If nominal GDP is equal to real GDP,
then : ’

(1) The GDP deflator is equal to zero.
(2) The GDP deflator is equal to one.
(3) The GDP deflator is less than one.
(4) None of these is correct.

Which of the following statements is
true ?

(1) FDI greater technology
transfers to developing countries
than to developed countries.

FDI has little effect on technology

transfers between countries, unlike
other of

causes

()

forms
investment.

international
(3) FDI is more likely to llil‘f’ll"""fe
eco'nomic growth in countries that
maintain protectionist trade policies
because protection increases the
c\ompelitive need to innovate.

FDI  causes technology
transfers (o developing countries
than to developed countries.

(4)

fewer
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85.

Second Alexander” (Sikandar-1-Sani)

was

’:‘E(I) Balban

-(2) Alauddin Khalji
(3) Muhammad-bin-Tughlaq
(4) Sikandar Lodi

Who propounded the “Drain of Wealth”
theory in India ?

(1) Tilak

(2) W.C. Banerjee

(3) W.C. Wacha

(4) Dadabhai Naoroji

Two row boats moving together parallel
to one another moving in the same
direction are pulled towards one another.
This is explained by
(1) Archimedes principle

.(2) Navier Stokes equation
%(3) Bernoulli’s equation

(4) None of these

88. A listener is moving towards a stationary
source of sound, the pitch (frequency) of
the sound heard is

(1) Lower than when he is at rest

(2) Higher than when he is at rest

(3) Same as when he is at rest

(4) None of these
564-C

The sultan who styled himself “The
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89.

90.

91.

92.

(27)

e ———mt

Which of the following is an anima] -
compound,

perfumes ?

(1) Muscone
(2) Vindesine
(3) Teniposide
(4) Vincristine

commercially used in

Match List-I with List-II and select the
correct answer from the codes given
below :
List-I
Vitamin 1
Enzyme 2
Hormone 3.
. Protein 4
Codes :
A
(L) =1
@) 2
2
1

- List-II
Pepsin
Carotene
Keratin
Progesterone

oOow >

(€))
(4)

N o= = N
A WA WA
W haWaARO

By the treaty of Allahabad of 1765 the

East India Company obtained

(1) Trading rights over Coromandel
coast.

Right to interfere into the politics of
Delhi.

)

(3) Diwani rights of Bengal, Bihar and
Orissa. 2
(4) Acceptance by Nawab of Bengal 10 IE\:
build a fort at Hugli. J\I

Who implemented Commissioner rule it
Mysore ?

(1) William Beninck
(2) Wellesley

(3) Clive

(4) Warren Hastings
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(2) 54
4) 76

(1) 74
3) 75
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93. Total number of Ramsar sites in India :
(1) 74 (2) 54
(3) 75 (4) 76

%, " The pentose sugar found in DNA is
(2) Xylose
(4) Ribulose

(1) Arabinose

(3) Ribose

97.

The following is not a specia] feature £
ature o
the speaker in Lok Sabha :

(1) When house is dissolved, the

speaker does not vacate his office.

(2) He will continue in office until new

speaker is appointed.

(3) Parliament is empowered to fix the

salary and allowances of speaker.
95.  Which PR is used to (4) First session of the new assembly
remove oil spills from ocean ? : _ :
() NitroimoRas specics will be presided by him.
(2) Azatobacter species
(3) Lactobacillus species 98. Who is the Chairman of 22™ Law
(4) Pseudomonas putida -
Commission of India ?
96. In axonal conduction of nerve impulse, (1) Justice Chandrachud
which of the following statement is (2) Justice Rituraj Awasthi
?
o (3) Justice Hegde
A ti is positivel
(1) resting neuron 1S p_ - y (4) Justice Kania
charged inside and positively
charged outside. : - T
@) Azl mentbronc L 15t Ntmote 99. The enzyme responsible for the emission i. :
permeable to Na' ions and less of light by fire fly is 2 L) ;‘ 2
permeable to K* ions at resting (1) Amylase (2) DNase b,
- &
potential. (3) LUCIferase (4) Llpase ;lI“_.. :
(3) During repolarization Na* ion gates
open and there is a pumping out of 100. According to the following schedule t
Na® ions. members of the parliament should 18
(4) During depolarization, Na* ion gates oath of affirmatiop .
i umping in of 3
open and there 18 @ pumping (1) First (2) Second
o ‘
Na* ions. (3) Third (4) Fourth
564-C (29)
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